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1 7
14 R InV RlnV R? (1np) 2
2. 58 4.43 0. 947 789 4.198 707 19. 624 9 0. 898 305
2. 58 5.49 0. 947 789 5.203 364 30. 140 1 0. 893 305
2. 81 7. 81 1. 033 184 7.418 265 51. 552 4 1. 067 470
3. 09 9.50 1. 128 171 10. 717 625 90. 250 1. 272 770
3. 17 13.09 1. 153732 15.102 346 171. 348 1 1. 331 097
3. 32 19. 50 1. 199 965 23.399 313 380. 250 1. 439915
3.3 19.75 1. 193 923 23.579 969 390. 062 5 1. 425 451
3. 44 21.25 1. 235471 26.253 769 451. 562 5 1. 526 39
3. 41 22.75 1. 226 712 27.907 705 517. 5625 1. 504 823
3.47 23.0 1. 244 155 28.615 556 529 1. 547 921
3. 56 30. 25 1. 269 761 38.410 256 915. 062 5 1. 612292
3. 58 32.5 1. 275 363 41. 449 291 1056. 25 1. 626 550
n= 2 R= 2 InV= Z RlnV= E R?*= 2 (1) =
12 208. 69 13. 856 015 252.256 166 4602. 665 5 16. 151 288
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— V=ae"( 2
2 7
14 R InV RlnV R? (Iny)2
2. 58 4. 64 0. 947 789 4.397 743 21. 529 6 0. 898 305
2. 58 5.49 0. 947 789 5.203 364 30. 140 1 0. 898 305
2. 68 6.97 0. 895 817 6.871 143 48 580 9 0. 971 835
2.79 7.39 1. 026 042 7.582 447 54. 612 1 1. 052 761
2.76 7.68 1. 015231 7.796 972 58. 982 4 1. 030 693
2.77 7.81 1. 018 847 7.957 198 60. 996 1 1. 0380 50
2. 81 8.02 1. 033 184 8.286 140 64. 320 4 1. 067 470
2.92 12. 67 1. 071 584 13.576 964 160. 528 9 1. 148 291
3. 14 12. 88 1. 144 223 14. 737 590 165. 894 4 1. 309 246
3,28 16. 25 1. 187 843 19. 302 456 264. 062 5 1. 410972
3.3 18.50 1. 193 922 22.087 566 342.25 1. 425 451
3. 58 30. 88 1. 275 363 39. 383 203 953. 574 4 1. 626 550
n= S 20 = 20 Rlnv= > R > (1lnV) 2=
12 R=139.18 12. 847 635 157. 182 784 2225.471 8 13. 877 929
B= 0. 013 369
A= 0.915 578
V: EEI)R: 2 498 219@0 013 369R
— (r)
= 0.943242
— ©) ()
0= 2. 166
SA 3. 56k
ro S , v= 2. 498 2197
R .
(2) 28 R-V
A.
— V=ae"( 3
B= 0.006 574
A= 1.101581
Q 006 574R

V=ad*= 3. 008 919¢
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3 28
|4 R InV RlnV R? (InV)?
315 10. 56 1. 147 402 12. 116 570 111.513 6 1. 316 532
326 11.19 1. 181727 13.223 527 125.216 1 1. 396 479
328 12. 88 1. 187 843 15.299 423 165. 894 4 1. 410972
329 13.1 1. 190 888 15. 600 627 177.610 0 1. 418 213
354 23.22 1. 264 127 29.353 023 539. 168 4 1. 598 016
355 23.75 1. 266 948 30. 090 006 564. 062 5 1. 605 156
372 30 1. 313724 39.411 710 900 1. 725 870
372 32.5 1. 313724 42. 696 019 1056. 25 1. 725 870
375 34. 62 1. 321 756 45.759 187 1198. 544 4 1. 747 039
378 34.75 1. 329 724 46.207 909 1207.562 5 1. 768 166
3.8 36.73 1. 335 001 49. 034 589 1349.092 9 1. 782 228
3 84 37.79 1. 345472 50. 845 401 1428.084 1 1. 810 296
n= P 20 k= 20 Rlnv= D 2 (Iny) %=
R%= 8816.998 9
12 301. 09 15. 198 336 389. 637 991 19. 304 837
— (r)
r= 0.989 525
— (%) (Sr)
&2 0. 78%
S~ 1. 06%
0. 006574R
€ S , V= 3. 008 919% ,
V
B R—T
— V=aé® ( 4y,
4 28
14 R Wy RlnV R (1nV)?
3. 19 11.19 1. 160 021 12.980 634 125.216 1 1. 345 649
3.3 12.25 1. 193 922 14. 625 550 150. 062 5 1. 425 452
3. 36 17.74 1. 211 941 21.499 833 314.707 6 1. 468 801
3. 42 17.95 1. 229 641 22.072 048 322.202 5 1. 512016
3. 54 19.42 1. 264 127 24.549 341 377.136 4 1. 598 016
3. 61 22.8 1. 283 708 29.268 537 519. 84 1. 647 906
362 23.65 1. 286 474 30.425 111 559.322°5 1. 655015
3.75 27. 88 1. 321 756 36. 850 553 777.294 4 1. 747 039
3.75 31.75 1. 321 756 41.965 748 1008. 062 5 1. 747 039
3.72 34. 63 1. 313724 45.494 251 1199. 236 9 1. 725 870
3.78 35.75 1. 329 724 47.537 633 1278.062 5 1. 768 166
3.75 38.25 1. 321 756 50. 557 161 1463. 062 5 1. 747 039
n= 2 R= 2 InV= Z RlnV= Z R2= Z (1ny)2
12 293.26 15. 238 549 377. 826 400 8094.206 4 = 19. 388 005
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5 65
14 R InV RlnV R? (Iny)?
3. 31 13.3 1. 196 948 15.919 411 176. 89 1. 432 685
3.33 13.8 1. 202 972 16. 601 018 190. 44 1. 447 142
334 14 1. 205971 16. 883 591 196. 00 1. 454 366
337 14.2 1. 214913 17.251 761 201. 64 1. 476 013
3. 39 14.2 1. 200 830 17. 335 785 201. 64 1. 490 426
3. 55 20.9 1. 266 948 26.479 250 436. 81 1. 605 156
3. 56 20.9 1. 269 761 26. 537 995 436. 81 1. 612292
3.62 22.2 1. 286 474 28.559 723 492. 84 1. 655015
3. 66 24.9 1. 297 463 32.306 832 620. 01 1. 683411
373 27.6 1. 316 408 36. 332 867 761.76 1. 732931
3. 75 31.1 1. 321 756 41. 106 607 967. 21 1. 747 039
3. 75 33.3 1. 321 756 44.014 469 1 108. 89 1. 747 039
n= > R= > InV= > RlnV= > R?= > (lny)?
12 250. 4 15122 199 319. 329 265 5790. 94 19. 083 513
B= 0. 006 678
A= 1. 120 836
V= ae"'= 3. 067 417¢" *° ™"
— (r)
r= 0. 970943
— (9 (S)
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RV
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— V= aé®( 6)
6 65
Vv R InV RlnV R? (lnV)2
3.32 8.4 1. 199 965 10. 079 704 70. 56 1. 439915
3,38 11.6 1. 217 876 14.127 358 134. 56 1. 483 221
3. 41 12.2 1. 226 712 14. 965 890 148. 84 1. 504 832
342 3.6 1. 229 641 16.723 111 184. 96 1. 512016
3,47 16 1. 224 155 19. 906 474 256 1. 547 921
3,58 0 1. 295 363 25.507 256 400 1. 626 550
3.59 3.6 1. 278 152 30. 664 392 556. 96 1. 633 673
3. 63 % 1. 289 233 30. 941 584 576 1. 662 121
3. 63 %.4 1. 289 233 31.457 277 595.36 1. 662 121
3. 65 2.7 1. 294 727 34.569 215 712.89 1. 676 318
3. 66 2.9 1. 297 463 34.901 759 723. 61 1. 683 411
3.67 27.3 1. 300 192 35.495 232 745.29 1. 690 498
3.77 30.2 1. 327075 40. 077 665 912. 04 1. 761128
3.79 30.7 1. 332366 40.903 637 942. 04 1. 751 99
3. 84 4.7 1. 345472 46. 687 891 1204. 09 1. 810 296
n= 20 k- 20 Iy 20 Rin= 20 Re- > (Iny) =
15 330.3 19. 147 624 426. 508 445 8 163. 65 24, 469 212
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RESEARCH ON RELATION BETWEEN CONCRETE STREN GTH

AND STRESS WAVE VELOCITY

Guo Xiugin Fang Licheng

Sixteenth Railway Engineering Bureau of MOR

Abstract Based on the experiments of 1000 sets of concrete parts in room for a year, the
relation § formula and curve for concrete strength ( R ) and stress wave velocity ( V') are de-
termined. They are valuable as reference for the engineering testing.

Keywords concrete strength; stress wave velocity; relation



